
Long Range Precision Bracket
Assembly Guide

Interference Free Gigabit Wirelessignitenet.com



ignitenet.com 2

Unboxing
Once opening the box you will find…
• 1 L-Bracket
• 1 Adjustment Assembly
• 1 Pole Bracket
• 4 15mm M8 Bolts with flat and split lock washer
• 3 25mm M8 Bolts with flat and split lock washer
• 1 40mm M8 Bolts with flat and split lock washer
• 4 120mm M8 Bolts with Lock nut

Tools/Items Required
• 13mm Wrench

For helpful training and user case information 
please go to ignitenet.com/support



ignitenet.com 3

Assembly

Center the vertical adjustment 
slide on the bracket

Attach 3 – 25mm M8 Bolts with flat and split lock washers 
to between the L-Bracket and Adjustment Assembly

Attach 1 – 40mm M8 Bolts with flat and split lock washers 
to between the L-Bracket and Adjustment Assembly



ignitenet.com 4

Attach Pole Bracket

Attach 4 – 120mm M8 Bolts with Lock nuts 
between adjustment assembly and pole mount 
bracket



ignitenet.com 5

Attach MetroLinq

Attach 4 – 15mm M8 Bolts with flat and split lock 
washers to your MetroLinq unit



ignitenet.com 6

Aiming

Horizontal –

Loosen Horizontal Locking Bolt

Adjust nuts on horizontal adjustment bolt

After aiming tighten all nuts.

Vertical –

Loosen 4 locking bolts

Adjust vertical aiming nut

After aiming tighten all 4 locking bolts.


	Slide Number 1
	Slide Number 2
	Slide Number 3
	Slide Number 4
	Slide Number 5
	Slide Number 6

